
EE 230 —  HW 3.14               Name_________________________________________

A slightly modified version of a non-inverting 
comparator with positive feedback is shown below.  
The op amp has output saturation limits at VL+ = 6 V 
and VL– = –6 V. 
 
Calculate VTL and VTH for the comparator.  Sketch 
the transfer characteristic — be sure to include 
important values in the sketch. 
 
 
 
 

VTL = _______________________________; VTH  = ________________________________

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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